
Our test:

Took the starting and end velocities of two carts as they 
moved toward each other and after they collided 
(inelastic so they stuck together). 

Used the velocities and mass values to calculate starting 
net momentum and end net momentum. Expect PI = PF

Also used the velocities and mass values to calculate 
starting KE and end KE. Expect KEI > KEF

Our Table:

Graph: Conclusion:
We concluded through our testing the momentum is 
conserved in perfectly inelastic collisions. Using the 
equation for momentum, we plugged in values recorded 
by the software, and the initial and final momentum 
values were equal to each other. Using the equation for 
kinetic energy (plugging in mass and velocity), we also 
determined that the final kinetic energy in each test was 
less than the initial kinetic energy.


